Km

a=b+c+d+e

o) () %{C) %{C) %

4 9/5 9/6 2.9 68 62 284 284 0 0 0
(100.0)| (0.0) (0.0) (0.0)

103 6/29 6/30 2.0 70 67 34 20 14 0 0
(58.8)| (41.2)| (0.0) (0.0)

280 9/5 9/6 1.3 69 63 141 141 0 0 0
(100.0)| (0.0) (0.0) (0.0)

7 9/21  9/22 1.8 71 67 197 166 2 0 29
(84.3) (1.0) (0.0) | (14.D

9/21  9/22 2.0 69 65 207 205 0 0 2
(99.0) (0.0) (0.0) (1.0)

10/26 10/27 1.3 66 58 120 120 0 0 0
(100.0)| (0.0) (0.0) (0.0)

10/26 10/27 0.6 68 60 84 84 0 0 0
(100.0)| (0.0) (0.0) (0.0)

101 9/12  9/13 2.4 64 58 468 468 0 0 0
(100.0)| (0.0) (0.0) (0.0)

339 9/12  9/13 0.7 60 52 36 36 0 0 0
(100.0)| (0.0) (0.0) (0.0)

10/18 10/19 0.5 61 54 69 69 0 0 0
(100.0)| (0.0) (0.0) (0.0)

11/16 11/17 1.5 68 59 137 137 0 0 0
(100.0)| (0.0) (0.0) (0.0)

10/ 4 10/ 5 0.8 62 55 132 132 0 0 0
(100.0)| (0.0) (0.0) (0.0)
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